[image: image1.png]-



Name _________________________

Math Pre-Calculus 20

Chapter 9 Review
#1.   Is the pt (4, -2) a part of the solution for the inequality 2x + 3y < 6?  (2 marks)
#2.  Is the pt (-2, 3) a part of the solution for the inequality x2 + 2x < y?  (2 marks)
#3.  Solve the inequalities below by graphing:  (3 marks each = 6 marks)
       Be sure to show your work with the test point.

a)  y ≥ 2x + 1
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b)  3x + 2y < 6
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#4.  Solve by graphing:   (4 marks each = 8 marks)

a)  y < (x + 2)2 – 3


b)  y – 1 > 2x2 + 4x


5.  Jane sells her artwork for different prices depending on the type of work.  Pen and ink sketches sell for $50, and watercolours sell for $80.
a)  Jane needs an income of at least $1200 per month.  Write an inequality to model this situation.  (2 marks)


b)  Graph the inequality.  (2 marks)

c)  List 3 possible solutions.  (1 mark)

#6.  Solve using the method given:                                      (4 marks each = 12 marks)
a)  x2 + 2x – 8 < 0

	Interval
	x<___
	___ < x < ___
	x > ___

	TEST POINTS
	
	
	

	Substitution 

(Work Area)
	
	
	

	Result: ( + or  – )
	
	
	



b)  x2 – 3x > 4




c)  -x2 + x + 6 > 0





#7.  Two numbers are related in this way:  2 more than 3 times the square of one number is greater than or equal to 5 minus three times the other number.
a)  Write the inequality.  (2 marks)

b)  Graph the inequality.  (2 marks)





c)  Use the graph to list a pair of integer values for the two numbers.  (1 mark)
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SOLUTION





NOTE: You have practiced all of the strategies we covered in class.








